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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1-  You might not be thinking about cholesterol yet, but high levels of cholesterol increase
your ----—- —- of heart disease, so find out what your level is now.
1) risk 2) level 3) strength 4) exposure

2-  With the ——-- of the Internet, working from home has become a real phenomenon.
1} demonstration 2) credibility 3) advent 4) dexterity

3- The teacher was gratified to see two older students --———-- to settle the playground
dispute between a number of third and fourth graders.
1) raise 2) encourage 3) promote 4) intervene

4-  Even though the unemployment rate continues to ---——---- . voters are still unhappy with
the president’s economic plan.
1) restore 2} abandon 3) abate 4) delay

5 Her maudlin display of tears at work did not impress her new boss, who felt she should
try to control her -————-- .
1) emotions 2) secrets 3) errors 4) restrictions

6-  The heavy rain did not -—-----—-- + 50 they cancelled their camping trip.
1) emerge 2) evaporate 3) subside 4) collapse

7-  Whitney is -——--—- about her shoes, arranging them on a shelf in a specific order, each
pair evenly spaced.
1) spectacular 2) fastidious 3) conscientious 4) conventional

8-  This agreement is very -----—- —- and open to various interpretations.
1} intentional 2} diverse 3) superficial 4) ambiguous

9-  Because our instructor was so unclear, | had to continually ask him to -———----- and
repeat what he was saying.
1) justify 2) clarify 3) emerge 4) improvise

10- Because of the chel™s ---——- cooking style, his food is easily identified in a taste test.
1) experimental 2) flexable 3) distinct 4) constant

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Remembering the past is an integral part of human existence. Without a good memory,
vou would not be able to drive to work, hold a meaningful conversation with vour

children, (11) =-------- a book or prepare a meal.

Memory has fascinated humans since (12) =eeeseees . Plato famously compared our
memory to a wax tablet that 1s blank at birth (13) ---—----- on the impression of the
events from our life. Only in the past hundred vears, though, (14) ==a=seee- systematic

objective techniques that have enabled us to study our recollections of the past with
scientific accuracy and reproducibility. These range from laboratory tests of our ability
to remember verbal and visual materials (15) -------—- more recent brain-imaging
approaches.
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11- 1) then read 2) reading 3) to read 4) read
12- 1) ancient times 2) ancient time 3) time of ancient  4) times of ancient
13- 1) slowing taking  2) to slowly take 3) and slowly takes 4) that slowly takes
14- 1) psychologists have developed 2) have psychologists developed

3) with psychologists developing 4) for psychologists to develop
15- 1) with 2) from 3)in 4)to

PART C: Reading Comprehension:

Directions: Read the following passage and answer the questions by choosing the best choice
(1) (2). (3), or {(4). Then mark the correct choice on your answer sheet,

16-

17-

18-

Surveying may be defined as the science of determining the position, i three
dimensions, of natural and man-made features on or beneath the surface of the Earth.
These features may be represented in analogue from as a contoured map, plan or chart,
or in digital form such as a digital ground model (DGM).

In engineering surveving, either or both of the above formats may be used for
planning. design and construction of works, both on the surface and underground. At a
later stage. surveying techniques are used for dimensional control.

In the first instance, surveying requires management and decision making in
deciding the appropriate methods and mstrumentation required to complete the task
satisfactorily to the specified accuracy and within the time limits available, This initial
process can only be properly executed afier very careful and detailed reconnaissance
of the area to be surveyed.

Surveying is ndispensable to the engineer when planning, designing and
constructing a project, so all engineers should have a thorough understanding of the
limits of accuracy possible in the construction and manufacturing processes. This
knowledge. combined with an equal understanding of the limits and capabilities of
surveving instrumentation and techniques, will enable the engineer to complete the
project successfully in the most economical manner and in the shortest possible time.

The main aim of this passage is to =============--

1) introduce the reader the basic concepts of surveying

2) define the various forms used in surveying

3) assess the ways of determining the positions of Earth

4) show how to manage and make decisions to complete vour task
The contoured map -------=--=----

I} 15 a surveying technique used fm dimensional control

2) 15 a sample of analogue form used merely for design on the surface
3) represents a man-made plan or chart used for construction of works
4) involves a model of hand-made design used for proper construction
Before performing the initial process, a -———-—=----—---

1} careful and detailed computation of the area haw. to be surveved

2) digital model useful in design and construction process must be fitted
3) three dimensional representation of the landform have to be showed
4) precise preliminary survey of the area must be done
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19-  Which sentence, according to the passage, is NOT true?
1) Time and economy have to be conserved in completing the projects
2) Processing the data is mainly done with managenal aids
3) Digital ground model represents more accurate database
4) The three dimensional imformation are to facilitate the fimished design
20-  The word "indispensable” in the first line of last paragraph means --———-—---—-—-—-- ;
1) controversial 2) enigmatic 3) essential 4) mundane

Directions: Read the following passage and decide which cheice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

The principle of terrestrial photogrammetry was improved in 1888, In terrestnial

photogrammetry, photographs are taken with the camera (21) ---—--emeeeeee on the
ground. The photographs are taken by (22) —-----em---- of a photo theodolite which is
a combination of a camera and a theodolite. Maps are then (23) -——=-mmemmeee- from the

photographs.

The prnnciple underlying the method of terrestrial photogrammetry 15 exactly
similar to that of plane table surveying. i.e. if the directions of same objects
photographed from two extremities of measured base are known, their position can be

located by the (24) - of two rays to the same object. However. the difference
between this and plane tabling is that more details are at once obtained from the
photographs and their (25) -—-ccemeeeeeee plotting ete. is done by the office while in

plane tabling all the detailing 15 done in the field itself.

21- 1) applied 2) performed 3) selected 4) supported
22- 1) schedules 2) means 3) features 4) concepts
23- 1) compiled 2) contrivanced 3) subsumed 4) segregated
24- 1) acquaintance 2) intersection 3) operation 4) symmetry
25- 1) deliberate 2) inventorial 3) subsequent 4) transparent

Directions:

In the 5 following questions, choose the answer which best completes technically each
individual item.

26- Survevors must always be on alert for probable comulative or systematic errors, which
could be the result of maladjustment or calibration of equipment. " Calibration' means:

1) adjustment 2) appointment 3) gradation 4) normalization
27-  Surveyving is an imperative requirement in the planning and execution of nearly every
form of construction. "Imperative” means: ——-—- —_

1) adequate 2) directional 3) erected 4) imminent

28- Many improvements and refinements have been -—-———-—-— in all the basic surveying
imstrument. These have resulied in increased accuracy and speed of operation.
1} capitulated 2) demaned 3) incorporated 4) reconciled
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29-  Though for sketch maps the compass or graphic technigques are acceptable for ———-——--
angles, only the theodolite can assure the accuracy required in the framework needed
for precise mapping.

Iy accomplishing  2) condensing 3) exposing 4) measuring
30- One of the two fundamental differences between ground and air survey is that the ground
SUrvey ———-——--—- — hetween fixed points, while air survey can trace features continuously.
1) conjugates 2) interpolates 3) proportionates 4) speculates
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